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What is 25% of 25% equal to?

a.6.25 b. 0.625 c. 0.0625 d. 0.00625
What percent of 60 is 727?

a. 80% b. 120% c. 84% d. 65%

60 eI 61HHMN FHAIBHD 72 b B(HESD (LPIQULD.

a. 80% b. 120% c. 84% d. 65%

40 quintals is what percent of 2 metric tonnes?
a.2% b. 20% c. 150% d. 200%

If 50% of P = 25% of Q, then P = x% of Q. Find x.

a.05 P b2 N ¢.50 d. 0.005

P a1 50 ssaimupn Q & 25 ssaisupb swb aefed P ar wdiy Q e
LHIT0 X FHAIHD 6lelled X 61 OFHIIL] WiITgH?

a.0.5 b.2 c. 50 d. 0.005

A person gave 20% of his income to his elder son, 30% of the remaining to
the younger son and 10% of the balance to a trust. If he is left with I 10,080,
his income was:

a. < 20000 b. X 25000 ¢. X 30000 d. I 40000

@ BUT SOl aKBHTEISH0 20 IFHaidHmsd SO Ul PSS
LEHHGLD, WBHUsTendled 30 FHaldHmsd el LHEMISGD, slehdlulsTendsd 10
FHAHHMD PH DBISLLMNSGID aThdH BHmIT. il sBEUTH
5.10,080 BB ENBHHHTE, SleUHEMLU KHLOTEID slsialensy?

a. < 20000 b. X 25000 ¢. ¥ 30000 d. < 40000

If a man after spending 97% of his income, saves I300 per month, his annual

income is:
a. 310000 b. 212000 c. 336000 d. 3120000
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@(H [BUT SHOT@INL U @H TH UHLTISH 97 FHalsHmHF OFeve OCFuish
UB&, 5.3000 CaOsHBIT. DlUHEDLUW DLewi(h QUHLOTEID 616166167

a. 10000 b. 12000 c. 336000 d. 3120000

The price of a chair is increased from 2,100 to 2,520. Find the percentage of
increase

a.15% b. 20% c.10% d. 25%

Q@  BImsTellulledr  allemev  epuTul 2100 uleliBbE  epuTul 2520 o5
DIFHFMNHGI6eNTeNSH 61660 HFHBMNHH aleney FHAIHHMBDH BHT6IH:

a.15% b. 20% c.10% d. 25%

A salesman receives salary of Rs. 5000 per month and 20% commission on
total sales. What is the amount of sales, if his total earnings in a month is Rs.
9,000?

a. 25,000 b. 20,000 c. 15,000 d. 18,000

@ SmsTuiled alBumemerwmeniler TEH 2aguid h.5000, OWTSHs alBLemeuisd
20 sgaipb sbganms GuBDTT. @m GBUILL wrigHsHed 0hH.9000-83 aUHLOTEILD
FLIQ6OITT 6Teled SlauT alBuemen OFwlsh OrsHs OFHTams wirg?

a. 25,000 b. 20,000 c. 15,000 d. 18,000

A city has a population of 3, 00,000 out of which 1, 80,000 are males. 50 per
cent of the population is literate. If 70 per cent of the males are literate, the

number of literate females is

a. 24,000 b. 30,000 c. 54,000 d. 60,000

QM BBEIHIEN HH6M0HTmS  3,00,000 DFHed yewigke  1,80,000. GCorshs
D&HHMTOHTMHUIL 50 FHAHID  LIQHHITHET.  Pewidbenled 70  FHAHID
LIQ HFHAITH6IT 616060, GILIeTIH6INED  Lilg&HHaITH6IT

a. 24,000 b. 30,000 c. 54,000 d. 60,000

In an election of two candidates the candidate who gets 25% of the total
votes is rejected by a majority of 1000 votes. Find the total number of votes
polled.

a. 1000 b. 2000 c. 3000 d. 4000

R BCxhiTxmpedsd @yewiy Goul umenitadeT GCUTLIQUIL L6T. SIFH60 @HeauT 25 FHAIHD
UThGHH6T GuBmI 1000 auTEGH6T alHHuTFSHHe0 Cameval DIMLHSTT. DiHSH
BxTmHevled LFHleuTer aUTSGH6i6 cTewTenllhHems 6T6ilel6N6)?

a. 1000 b. 2000 c. 3000 d. 4000

At an election involving two candidates, 68 votes were declared invalid. The
winning candidate secures 52% and wins by 98 votes. The total number of

votes polled is:
a. 2382 b. 2450 c. 2518 d. none of these
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@reniy  Geulumenider OsmewiL @b GaTHeded 68 euTdhGHH6T 6lF6060THME.
Ceupploump  Geulumen™ 52 gZals  aund@Gder  GuBml 98 eumdh@Hdein
alHHWTFSFHe0 Geumnpsl CUBBTT eTefled DIGHBHTHL LIGHauTerr OOTSHS TG SH6I
6T6U0T6u0N oM 6161161667

a. 2382 b. 2450 c. 2518 d. BauBmie eHia|levemev
The present value of a television is Rs. 14,580. If the value of the television
depreciates at the rate of 10% every year, then the value of the television 3
years ago was
a. Rs. 18,950 b. Rs. 16,200 c. Rs. 20000d. Rs. 18000
R OpTemevdhaTl & Guliguier SBEUTMSHW S H.14,580. elGeuT(H LewT(HLD
OFHTMEVHBTL g QuLiguflesr LI 10% CarUILTAIHHMBHTE  GHMBHS
LHUIILLUGHBE eleled 3 emihBEDHHE (P&IlT DISHOHTENeHSTL & G 1gu e
LOGILIL
a. Rs. 18,950 b. Rs. 16,200 c. Rs. 20000d. Rs. 18000
If the Population in a place increases by 1% in the first year and 2% in the
second year, the total percentage increase is
a.2% b. 3% c. 3.02% d. none of these
RH BLHIHET 1B 0HTnd  (LPHevUTewged 1%-10 Wi Toukhl Demiged 2 %-1b
SIHBMNGHHHTL OTHs DIFHHMI FHalSISLD
a.2% b. 3% c.3.02% d. SeauBmien eHia|Levemev
The salary of an employee is I 9870. It is first increased by 20% and then is
decreased by 10%. Find per cent increase in his salary from the original
salary.
a. 8% b. 10% c.12% d. 13%
@@ uenlwmenfler oaguid 59870 SuELD. WHed i 20 FHaHD
o1FFMHa, Upg 10 FHealsd GmBSBG. SlOU(HEDLUI (P60  2MHUIGHSH60
BOHbHSH THHMA FHAISHD 2GHUID o WIThHGI6TeNGHI?
a. 8% b. 10% c.12% d. 13%
The price of cooking oil has increased by 25%. The percentage of reduction
that a family should effect in the use of cooking oils so as not to increase
expenditure on this account is :
a.15% b. 20% c.25% d. 30%
gooowed elewiGemiulesr  alemev 25% oiHsfEdBaH. @m  GOBLUD  FenLouled
eTemtOleoT U6l LGS SHIleT Sieenel 6161666, FHABHD HMMBHDHTED FNLOUIED
eTenICen IS S Te GFevaled elelalls LOTHBMPLD JBLILTSHI?
a.15% b. 20% c.25% d. 30%
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